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SOCIAL SCIENCE
' PART L

: e JChoose the correct answer. ' ' Lls .
"4, . Tranquebar on the Tamilnadu coast was a trade centre he
*a) The Portuguese.b) The:British c) The French™ - he anish

- The Battle of Plassey was foughtin:
1757 . b) 1764

2
3 In which region was the: Ryotwém syste )

o . a) Bombay . .b)Madras, ot 2, Ll None of t_h_ese o
S 4.  Which of the followmg place was associatgd with Dheeran Chinnamalai .
o )Oanllal‘ g Ty

5 P

a) Dindigul - ; )Nagalapuram c) udukottal A
‘ - Find out the wrong pair : A Ry g, ‘ ]
\a) rudu- Pandlyar - Ettayapuram w4 R ;'.-‘-;«'.AU‘.-‘INI:--:-:.—& KMA.B.Ed
c) Keral‘a Varma - Malabar . .- © .7 . 0. WKELAMANGALAM Block . - .
) i L ; G \R[Jh\].‘ IRI district OF

' d) Dhoondaji - Mysore N = Ok :
6.  World soil day.’ L * PH:9003373506 -
©a) 5% January b) 15% August c) 15t October d) 5t December
7.  Which one the followmg represents places with equal of rainfall
~¢) Isobar - y £ s/o)jytes '

a) Isotherm b) Isohel _
8. The_process of changing of water from gaseous to liquid/form is- known as

: Cohdensation b) Evaporation c) Sublimation d) Ralnfall P iy
9. Statement (A): Urbamsatlon |s mamly due to the movement of people from , |

“rural to cities.
ReasonR) : Rural to Urban mlgratlon isnota predommant one.

is correct but R is.incorrect ~ b) Both A and R are incorrect

c) Both Aand R arecorrect  d) Ais incorrect and R is correct
10. * The age of retirement of the Judges of the High Court is
a) 58 - b)eo s ea/627 d).65 .
11. At present how many states are in India P
‘ a)26 - - " b) 27 ©C) 28 \—d’)%
12. Who is called the first citizen of India? '
- a) The Prime Minister & b) The President
c) The Chief Minister - d) The Chief Justice of Supreme Court
-13.  The Preamble of the Constjtution was amended in
a) 1951 19;/'/15 c) 1974 d) 1967

14. -Which is the Bank Money:
Cheque b) Draft c) Credit and Debnt cards d) All the above

b1t Match the followings. . " 6X1=6
15. a) The Dutch - Clouds S .
" b) Mahalwari Settlement - Sedumentary rock C—
c) Limestone - Silver coin
d) Condensation - Future cmzen E
. e) Children - North west province b
~ f) Rupiya L - Pulicat (& )
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49.
o0,

51.

,.:.;’;Scien fic.study of rocks'is calle

'True/FaIse.' (‘-ﬁ»(,uj_/ Sy Yy 5x1 5

. Volcanic mountains are covered with sedimentary rocks. PqLQe_,

- Give a short note on Archives.
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.he Mughal Emperor A P
d! IP
*“tefers to the condutron of atmosphere for hort perlod of t|m :
2 degree of water vapour present in the atmOSphere is known as’
of a state enJoy full civil and political rights. -

""l_: m
Auto biography is one of the wrltten sources

The atmosphere is a layer of gases surroundlng the eart C" Y9
USA has single citizenship. ECJ
d

The term secularlsm has beé ﬁg\'/eed/from the Greek word RFO(,LQ“L

Distinguish. v iy , R SoXx2= 10
Metamorphic. rock e _sed|mentary rock '

-Soil conservation . . - - Soil erosion .

Weather . - e "~ ‘climate.

Absolute humldlty = relative’ humldlty : :

Permanent winds . - seasonalwmds ' & PSR
Give reasons. ‘ : Py B XL =6

Igneous rocks are found in the reglons of volcanoes

. . Temperature decreases with increase.in altitude.

Mountain climbers carry oxygen cylinders whlle ascendlng peaks

Fresh water is less: on the earth. ‘

Snowfall is common in the polar region and mountalnous reg|ons S L0
Give shortanswers (Any 10 Questlons) 5 10X 2= 20 e

Name the states signed into Subsnd'lary Allnance

¢ «List out any two salient features of the Permanent settlement7

What was the lmportance of Tlruchlrappalh proclamat|on?
Define ‘rock’.

What is Insolation? - o
How is the dew formation takes place'?
Define “Migration”.

. How isthe Chief Minister appomted? 5

Mention any three qualities of a good citizen.

Mention any three Constitutional prowsrons related to secularlsm
What is the Barter System?

Answer the following questions in detall. R 4x5 20

=

- How did the British establish their trading centres in Indla7 .(OR)

What do you know about the Puli Thevar? B!
List out the weather elements and associated measurmg mstruments (OR)
Discuss the problems of urbanisation.

Discuss the powers and functions of the Legislative Assembly (OR)
Secularism is necessary for a country like India. Justify.
Explain the types of bank Deposits. (OR)

What are the effects of black money on economy?

Mark the following places in an India out line map. 10 x 1= 10 ,

i) Bombay ii) Bay of Bengal iii) Panipat iv) Buxar v) Bardoli

vi) Punjab vii) Jhansi viii) Barrackpore iX) Gwalior x) Agra i
Mark the following places in a World map. : .5x1=5

i) Tropic of Cancer i) Antarctic Circle iii) Pacific Ocean .

iv) India -V) Torrid Zone ;
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